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a=2.7; b=6.3; c=2.669 # initial values
n=5000
X=rep(runif(1),n) # initialize the chain
for (i in 2:n){
Y=runif (1)
rho=dbeta(Y,a,b)/dbeta(X[i-1],a,b)
X[i1=X[i-1] + (Y-X[i-1])*(runif (1)<rho)
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data(cars)

x=cars$speed § B

y=cars$dist

x2=x"2

# g

fit=1m(y~x+x2)

#

plot (y~x) > 3

lines(x,predict(fit),col="red",1lwd=2)

> summary (fit)

Coefficients: Q 4
Estimate Std. Error t value Pr(>|tl)

(Intercept) 2.47014 14.81716 0.167 0.868

x 0.91329 2.03422  0.449 0.656 Q4
x2 0.09996 0.06597 1.515 0.136
Residual standard error: 15.18 on 47 degrees of freedom
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Barking = function (nsim = 1073){
data = cars; x = data[, 1]; y = datal, 2]; n = length(x); x2 = x"2
MSR = 225; SSR = 10809
bhat = coefficients(lm(y ~ x + x2))
loglike = function(a, b, ¢, s2) { -(n/2) * log(s2) - sum((y - a - b * x - ¢ * x2)72)/(2 * s2) }
dcand = function(a, b, ¢, s2) {
dnorm(a, bhat[1], sd = 15, log = TRUE) + dnorm(b, bhat[2],
sd = 2, log = TRUE)
+dnorm(c, bhat[3], sd = 0.06, log = TRUE) - (n/2) * log(s2) -
SSR/(2 * s2)

}

bilhat = array(bhat[1], dim = c(nsim, 1))
b2hat = array(bhat[2], dim = c(nsim, 1))
b3hat = array(bhat[3], dim = c(nsim, 1))

s2hat = array(MSR, dim = c(msim, 1))
for (i in 2:nsim) {
bcand = c(rnorm(1, mean = bhat[1], sd = 15), rnorm(1,
mean = bhat[2], sd = 2), rnorm(l, mean = bhat[3],
sd = 0.06), 1/rgamma(l, n/2, rate = SSR/2))
test = min(exp(loglike(bcand[1], bcand[2], bcand[3],
bcand[4]) - loglike(blhat[i - 1], b2hat[i - 1], b3hat[i -
1], s2hat[i - 1]) + dcand(blhat[i - 1], b2hat[i -
1], b3hat[i - 1], s2hat[i - 1]) - dcand(bcand[1],
becand[2], bcand[3], bcand[41)), 1)
rho <- (runif(1) < test)

bihat[i] = bcand[1] * rho + bilhat[i - 1] * (1 - rho)
b2hat[i] = bcand[2] * rho + b2hat[i - 1] * (1 - rho)
b3hat[i] = bcand[3] * rho + b3hat[i - 1] * (1 - rho)
s2hat[i] = bcand[4] * rho + s2hat[i - 1] * (1 - rho)

}

return(list('Beta0'=blhat, 'Betal'=b2hat,'Beta2'=b3hat,'Sigma'=s2hat))

}
nax = E = 5 =]
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rw.Metropolis <- function(nu, sigma, x0, n) {
x <- numeric(n)

x[1] <- x0
u <- runif(n)
k <- 0

for (i in 2:n) {
y <- rnorm(1, x[i-1], sigma)
if (uli] <= (dt(y, nu) / dt(x[i-1], nu)))
x[i] <- y else {
x[i] <- x[i-1]

k<-k+1
}

}

k=(1-k/n)

return(list (x=x, k=k))

i)
!
n
I
8
u]

bl Sl Slles 552l smo o850 (i ooy



O 2 s :Jbe

nu <- 4 # degrees of freedom

n <- 2000

sigma <- c(.05, .5, 2, 16)
x0 <- 25

##

rwl <- rw.Metropolis(nu, sigmal[1l], x0, n)
rw2 <- rw.Metropolis(nu, sigmal[2], x0, n)
rw3 <- rw.Metropolis(nu, sigmal[3], x0, n)
rwd <- rw.Metropolis(nu, sigmal[4], x0, n)
# number of candidate points rejected

> print(c(rwi$k, rw2$k, rw3sk, rwi$k))
[1] 0.9955 0.8605 0.5460 0.0985

215 [/10, /0] asls 4 S35 (5ylks p s ) LS
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par (mfrow=c(2,2)) # display 4 graphs together
refline <- qt(c(.025, .975), df=n)
rw <- cbind(rwi1$x, rw2$x, rwidx, rwd$x)
for (j in 1:4) {
plot(rwl,jl, type="1",
xlab=bquote(sigma == .(round(sigmaljl,3))),
ylab="X", ylim=range(rwl[,jl))
abline(h=refline)
}
## Computing quantiles of target distribution and chains
a <- c(.05, seq(.1, .9, .1), .95)
Q <- qt(a, n)
rw <- cbind(rwi$x, rw2$x, rw3$x, rwid$x)
mc <- rw[501:N, ]
Qrw <- apply(mc, 2, function(x) quantile(x, a))
print (round(cbind(Q, Qrw), 3))
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Q V2 V3 V4 V5

5% -1.65 2430 -2.82 -2.20 -1.77
10% -1.28 24.43 -2.05 -1.51 -1.38
20% -0.84 24.85 -1.28 -0.89 -0.99
30% -0.52 25.02 -0.83 -0.59 -0.64
40% -0.25 25.22 -0.45 -0.27 -0.25
50% 0.00 25.83 -0.13 -0.05 0.09
60% 0.25 26.70 0.17 0.21 0.24
70% 0.52 26.89 047 051 0.92
80% 0.84 27.10 0.89 0.87 1.31
90% 1.28 2742 1.38 1.30 1.79
95% 1.65 2758 1.79 1.70 214
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Nsim=5000 # initial values

rho=0.7

X=Y=array(0,dim=c(Nsim,1)) # init arrays

X[1]=rnorm(1) # init chains

Y[1]=rnorm(1)

for (i in 2:Nsim){ # sampling loop
Y[il=rnorm(1,rho*X[i-1],1-rho"2)
X[il=rnorm(1,rhox*Y[i],1-rho~2)

}

mcme=cbind (X,Y)

par (mfrow=c(2,2))

plot(ts(memc[,1]), xlab="Trace Plot", ylab="")

plot(ts(memc([,2]), xlab="Trace Plot", ylab="")

hist(mcmc[,1],40, main="", xlab="")

hist(mcmc[,2],40, main="", xlab="")

par (mfrow=c(1,1))
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n=length(x)

Nsim=10000

a=b=0.1

tau2=10

thetaO=xbar

xbar=mean (x)

shi=(n/2)+a

sigma=theta=rep(0,Nsim) #init arrays

sigma[1]=1/rgamma(1,shape=a,rate=b) #init chains

B=sigma2[1]/(sigma2[1]+n*tau2)

theta[1]=rnorm(1,m=B*theta0+(1-B)*xbar,sd=sqrt (tau2*B))

for (i in 2:Nsim){
B=sigma2[i-1]/(sigma2[i-1]+n*tau2)
theta[il=rnorm(1,m=B*thetal+(1-B)*xbar,sd=sqrt (tau2+B))
ral=(1/2)*(sum((x-thetali])~2))+b
sigma2[i]=1/rgamma(1,shape=shl,rate=ral)

}

##

> mean(theta)

[1] 870.459

> sqrt(mean(sigma2))

[1] 389.7115

##

par (mfrow=c(2,1))

hist(log(theta) ,main="")

hist(sqrt(sigma2) ,main="")
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